Name:

1. Mikiah has $1.80 in pennies. Which equation shows how many
pennies Mikiah has?

A. 1.80 =+ 0.1 =180 pennies B. 1.80 <+ 0.1 =18 pennies
C. 1.80 + 0.01= 180 pennies D. 1.80 + 0.01 =18 pennies

Answer:

2. Marie walks 18.5 miles in 10 days. If she walks the same about
each day, how many miles does she walk each day?

A. 0185 mile B. 1.85 miles
C. 8.5 miles D. 185 miles
Answer:

3. Choose whether each equation is True or False.

True False

35.4 + 0.01= 3,540
569 <+ 100 = 5.69
934 +01=934
30.2 +10=3.02
4+-01=04

27 +100 =0.27
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